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Chapter 6 Calculus Practice Exam
Caleulods
1. Consider the region enclosed between the graph of
f(x) =x?—In x and the x-axis for 1 <x<35.
a) Find the MRAM, , and the area estimate obtained using
the 4 midpoint rectangles.
b) Use fnint to find the area.
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2. A solid 1s formed by revolving the curve
2

y=x3+1 0<x<25 aboutthe x-axis.

Estimate the volume of the solid by partitioning [0. 2.5] into
tive subintervals of equal length, slicing the solid with planes
perpendicular to the x-axis at the subintervals’ left endpoints.
and constructing cvlinders of height 0.5 based on cross sections

at these points, as shown at the right.
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2
3. Use an area to evaluate f: (3x)dx, wherea>1.
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4. Use fint to evaluate f;'z - ®) dx
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5. Suppose that f and g are continuous functions and that
f; f(x)dx = 7, f35g(x)dx =2, and fOS,g(x)dx = 4
Which of the following must be true?
I. f; gx)dx = 2
L[] fx)gx)dx = 14
I11. f;[f(x) —g(x)]dx = 5

A. TandII B. Iand III C. ITand III

i e e e TR R e

D. III only E. 111, and III
1 (P - (5 EIPRN
So g(x) dx So g(x)x *SS qe ok

True Y +-2 =2Z]
T False nob molmiplieation property

m {3 P00 d -{ o i
'1"_0& —l L=

&




practice test 6 smartboard.notebook

November 25, 2019

6. Evaluate f;(t}x —10) dx).
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7. Evaluate ff sec(x) tan(x) dx

using Part 2 of the Fundamental Theorem of Calculus.
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8. (a) Graph the function y = 0.2x? — 0.8x — 1 over the

part (a) and the x-axis Jetn) area.
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o.Let f[t) = 4— 3t.

3x?

a)Find = [°1 f(t)dt
b) Find - [, £(t) dt
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10. A pamcle moves along a coordinate axis. Its posmon at

F&

a) What is the particle’s positionat t = 0? S{O) g i-' (X)o\r‘@

b) What is the particle’s positionat t = 3?

c) What is the particle’s velocity at t = 5?

d) Approximately when is the acceleration zero?

e) At what time during the first 7 sec does s have its
largest value?
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11. Use the Trapezoidal Rule with n = 4 to approximate the
value of foz(xz —2x + 2) dx.
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colesatpr

12. The function f is continuous on the closed interval [1. 7] and
has the values that are given in the table below.

X 1 4 6 7
ftx) 10 30 40 20

D: 4] ["'l ] [‘»ﬂ

5 h(bab) + Lhbby) f-%_\q(L,'eL.h
E(-0(0430) +1(64)B0w40) + 4(1-6)(Ho+20)
ELE) [CLN 3(D(F06) + é(l\(bo)
GO + T70+730
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